
A

87654321

B

C

D

E

F

 Drawing Number  

ProjectionFormatScale

 Sheet

 No. of sheets

Rev. Ind.

Rev  Description

BNTS

2019/03/18
 

M.HUTCHINS

F.LEVASSEUR

A.LALONDE

3ACD528400012
 

    
    
    

Modified D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

 D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

1

5

 Material

 Finish
SEE LIST

POWDERCOAT COVER AND WELDMENT WITH PROTECH DS511A99 OR EQUIV.

 Part Title

 Part Detail

CHARGER PEDESTAL W REAR CABLE PASSAGE

year/month/day
                                           year/month/day

3ACD0050AA017 (B) REV -

G
:\S

T
A

A
P

P
-e

ng
in

ee
rin

g\
G

_D
R

_S
T

D
.IA

D
\C

A
_c

hs
ei

_2
\M

A
N

U
F

_D
W

G
\5

28
4\

3A
C

D
52

84
00

01
2.

df
t

W
e 

re
se

rv
e 

al
l r

ig
ht

s 
in

 th
is

 d
oc

um
en

t a
nd

 in
 th

e
in

fo
rm

at
io

n 
co

nt
ai

ne
d 

th
er

ei
n.

  R
ep

ro
du

ct
io

n,
 u

se
or

 d
is

cl
os

ur
e 

to
 th

ird
 p

ar
tie

s 
w

ith
ou

t e
xp

re
ss

au
th

or
ity

 is
 s

tri
ct

ly
 fo

rb
id

de
n.

©
 C

op
yr

ig
ht

 A
B

B
.

0 Prepared by

 Prepared By

 Approved By

1914

600

438

400

50

300

600

50 500
O 20.6

NOTE:
1. All dimensions are in millimeters.
2. Pedestal weldment to be hot-dip galvanized per ASTM A123 prior to powder paint.
3. Galvanized weldment and front cover to be powdercoated (Protech DS511A99 or equiv.) RAL 7012 "basalt gray".
4. All threads to be chased prior to assembly / shipping.
5. Weight of completed assembly 116 Kg (255 lbs).
6. An informative link regarding powdercoat over hot-dip galvanize may be found here:

https://galvanizeit.org/specification-and-inspection/specifying-duplex-systems/preparing-hdg-for-powder-coating

3
4

8
6

2
10

7
1

1
1

5
2

4
6

6
1

CHARGER PEDESTAL WITH REAR PASSAGE BOM

ITEM # Title Description QTY

1 PEDESTAL EV BUS CHARGER STEEL WELDMENT HOT-DIP GALVANIZE PER ASTM A123 1
2 SEALING WASHER MCM #91195A111 PURCHASE FROM MCMASTER-CARR OR EQUIV. 10
3 NYLON LOCKNUT M8 MCM #90576A117 PURCHASE FROM MCMASTER-CARR OR EQUIV. 4
4 SS INT TOOTH LOCKWASHER M6 MCM #93925A270 PURCHASE FROM MCMASTER-CARR OR EQUIV. 6
5 SS HEX NUT M6 MCM #91828A251 PURCHASE FROM MCMASTER-CARR OR EQUIV. 2
6 HOLE PLUG 3/4 NPT IP68 MCM #7280K17 PURCHASE FROM MCMASTER-CARR OR EQUIV. 1
7 COVER PEDESTAL EV BUS CHARGER Galvanized steel CS SHEET G90 (Z275) minimized spangle, 11 GA. 1
8 PIN IN TORX BHSCS MCM #91900A868 PURCHASE FROM MCMASTER-CARR OR EQUIV. 6

CHASE ALL THREADS AND ASSEMBLE
AS SHOWN AFTER PAINT

SEE SHEETS 2 TO 4

CHARGER PEDESTAL ASSEMBLY

CHARGER PEDESTAL FINAL ASSEMBLY

SEE SHEET 5



A

87654321

B

C

D

E

F

 Drawing Number  

ProjectionFormatScale

 Sheet

 No. of sheets

Rev. Ind.

Rev  Description

BNTS

2019/03/18
 

M.HUTCHINS

F.LEVASSEUR

A.LALONDE

3ACD528400012
 

    
    
    

Check D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

 D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

2

5

 Material

 Finish
SEE LIST

SEE SHEET 1

 Part Title

 Part Detail

CHARGER PEDESTAL W REAR CABLE PASSAGE

year/month/day
                                            year/month/day

3ACD0050AA017 (B) REV -

G
:\S

T
A

A
P

P
-e

ng
in

ee
rin

g\
G

_D
R

_S
T

D
.IA

D
\C

A
_c

hs
ei

_2
\M

A
N

U
F

_D
W

G
\5

28
4\

3A
C

D
52

84
00

01
2.

df
t

W
e 

re
se

rv
e 

al
l r

ig
ht

s 
in

 th
is

 d
oc

um
en

t a
nd

 in
 th

e
in

fo
rm

at
io

n 
co

nt
ai

ne
d 

th
er

ei
n.

  R
ep

ro
du

ct
io

n,
 u

se
or

 d
is

cl
os

ur
e 

to
 th

ird
 p

ar
tie

s 
w

ith
ou

t e
xp

re
ss

au
th

or
ity

 is
 s

tri
ct

ly
 fo

rb
id

de
n.

©
 C

op
yr

ig
ht

 A
B

B
.

0 Prepared by

 Prepared By

 Approved By

1914

600 400

2
1

1
1

3
1

4
4

PEDESTAL WELDMENT BOM

ITEM # Title Material QTY

1 PEDESTAL BASE PLATE Hot rolled P&O steel sheet,  1/2" ASTM A1011 CS Type B 1
2 PEDESTAL BACK PLATE COLD ROLLED STEEL SHEET, 1/4" 1
3 PEDESTAL VERTICAL MEMBER COLD ROLLED STEEL SHEET, 1/4" 1
4 PEM STUD FH-M8-25ZI PEM STUD FH-M8-25ZI OR EQUIV. 4
5 PEDESTAL PASSAGE PLATE COLD ROLLED STEEL SHEET, 11GA. 1
6 WELD STUD M6 X 15 FULL THD. WELD STUD, STEEL, M6 X 15 FULL THD. 1

161

2X 1/4" 1" - 2"

1/4"
2X
CLOSE CORNER

G

1/4"

6X

G

3X

G

BASE PLATE UNDERSIDE

PRIOR TO PAINT, HOT-DIP GALVANIZE COMPLETED WELDMENT PER ASTM A123
MASK THREADED STUDS AND HOLES (EX. AS NOTED) PRIOR TO GALVANIZING AND POWDERCOATING

6
1

MASK O13 ABOUT STUD
PRIOR TO PAINT

 
5
1

PEDESTAL EV BUS CHARGER WELDMENT
(SHEETS 2 TO 4)

DRAIN HOLE FOR GALVANIZING.
3/4 NPT THREAD, LEAVE OPEN
DURING GALVANIZING PROCESS,
CHASE THREADS AFTERWARD

G

G

BEFORE ASSEMBLY
TO PEDESTAL

PEDESTAL EV BUS CHARGER WELDMENT

51



A

87654321

B

C

D

E

F

 Drawing Number  

ProjectionFormatScale

 Sheet

 No. of sheets

Rev. Ind.

Rev  Description

BNTS

2019/03/18
 

M.HUTCHINS

F.LEVASSEUR

A.LALONDE

3ACD528400012
 

    
    
    

Check D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

 D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

3

5

 Material

 Finish
SEE LIST

SEE SHEET 1

 Part Title

 Part Detail

CHARGER PEDESTAL W REAR CABLE PASSAGE

year/month/day
                                            year/month/day

3ACD0050AA017 (B) REV -

G
:\S

T
A

A
P

P
-e

ng
in

ee
rin

g\
G

_D
R

_S
T

D
.IA

D
\C

A
_c

hs
ei

_2
\M

A
N

U
F

_D
W

G
\5

28
4\

3A
C

D
52

84
00

01
2.

df
t

W
e 

re
se

rv
e 

al
l r

ig
ht

s 
in

 th
is

 d
oc

um
en

t a
nd

 in
 th

e
in

fo
rm

at
io

n 
co

nt
ai

ne
d 

th
er

ei
n.

  R
ep

ro
du

ct
io

n,
 u

se
or

 d
is

cl
os

ur
e 

to
 th

ird
 p

ar
tie

s 
w

ith
ou

t e
xp

re
ss

au
th

or
ity

 is
 s

tri
ct

ly
 fo

rb
id

de
n.

©
 C

op
yr

ig
ht

 A
B

B
.

0 Prepared by

 Prepared By

 Approved By

0
202X

752X

4002X

7252X

7802X
800

863.5

901.6

0 20
2X 12

5.
4

3X

47
4.

6
3X

58
0

2X
60

0

26
1.

9

30
0

33
8.

1

R 25.42X

O 38.1

R 6.44X

86X
526X

6.4 THK.

254X

4X INSTALL 
PEM STUD
FH-M8-25ZI (OR EQUIV.)
FROM FAR SIDE

2
1

12.7 THK.

0

502X

204.6

2742X

3502X
363.4

384
400

0 50
2X 12

5.
5

14
1.

2

45
8.

8
47

4.
5

55
0

2X

60
0

30
0

R 25.44X

O 20.64X
523X

83X

1
1

154.6

30
0

6
1

PEDESTAL EV BUS CHARGER WELDMENT

MASK O13 ABOUT GROUND
STUD PRIOR TO PAINT



A

87654321

B

C

D

E

F

 Drawing Number  

ProjectionFormatScale

 Sheet

 No. of sheets

Rev. Ind.

Rev  Description

BNTS

2019/03/18
 

M.HUTCHINS

F.LEVASSEUR

A.LALONDE

3ACD528400012
 

    
    
    

Check D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

 D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

4

5

 Material

 Finish
SEE LIST

SEE SHEET 1

 Part Title

 Part Detail

CHARGER PEDESTAL W REAR CABLE PASSAGE

year/month/day
                                            year/month/day

3ACD0050AA017 (B) REV -

G
:\S

T
A

A
P

P
-e

ng
in

ee
rin

g\
G

_D
R

_S
T

D
.IA

D
\C

A
_c

hs
ei

_2
\M

A
N

U
F

_D
W

G
\5

28
4\

3A
C

D
52

84
00

01
2.

df
t

W
e 

re
se

rv
e 

al
l r

ig
ht

s 
in

 th
is

 d
oc

um
en

t a
nd

 in
 th

e
in

fo
rm

at
io

n 
co

nt
ai

ne
d 

th
er

ei
n.

  R
ep

ro
du

ct
io

n,
 u

se
or

 d
is

cl
os

ur
e 

to
 th

ird
 p

ar
tie

s 
w

ith
ou

t e
xp

re
ss

au
th

or
ity

 is
 s

tri
ct

ly
 fo

rb
id

de
n.

©
 C

op
yr

ig
ht

 A
B

B
.

0 Prepared by

 Prepared By

 Approved By

0

88.2
138.2
155

129.63X
1613X

0
11

2X8651
1

93
6

10
61

11
11

13
86

14
36

17
11

17
61

18
09

45°

3X DRILL & TAP
THRU M8 x 1.25

FEATURES TYPICAL FOR 
FAR SIDE

6.4 THK.

0

152.8
202.8

355.6

3
1

PEDESTAL EV BUS CHARGER WELDMENT

62.3

293.3

R 6.44X

0
46

.7

20
2.

8

A

A
VIEW A-A

563/4-14 NPT

64

155

230

3 THK.

 
5
1



A

87654321

B

C

D

E

F

 Drawing Number  

ProjectionFormatScale

 Sheet

 No. of sheets

Rev. Ind.

Rev  Description

BNTS

2019/03/18
 

M.HUTCHINS

F.LEVASSEUR

A.LALONDE

3ACD528400012
 

    
    
    

Check D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

 D
ra

w
n 

by
 R

ef
er

en
ce

 D
oc

um
en

t

 D
es

ig
ne

d 
B

y
R

ev
. I

nd
.

 Is
su

ed
 B

y
da

y/
m

on
th

/y
ea

r

 s
he

et

 C
on

t

5

5

 Material

 Finish
SEE LIST

SEE SHEET 1

 Part Title

 Part Detail

CHARGER PEDESTAL W REAR CABLE PASSAGE

year/month/day
                                            year/month/day

3ACD0050AA017 (B) REV -

G
:\S

T
A

A
P

P
-e

ng
in

ee
rin

g\
G

_D
R

_S
T

D
.IA

D
\C

A
_c

hs
ei

_2
\M

A
N

U
F

_D
W

G
\5

28
4\

3A
C

D
52

84
00

01
2.

df
t

W
e 

re
se

rv
e 

al
l r

ig
ht

s 
in

 th
is

 d
oc

um
en

t a
nd

 in
 th

e
in

fo
rm

at
io

n 
co

nt
ai

ne
d 

th
er

ei
n.

  R
ep

ro
du

ct
io

n,
 u

se
or

 d
is

cl
os

ur
e 

to
 th

ird
 p

ar
tie

s 
w

ith
ou

t e
xp

re
ss

au
th

or
ity

 is
 s

tri
ct

ly
 fo

rb
id

de
n.

©
 C

op
yr

ig
ht

 A
B

B
.

0 Prepared by

 Prepared By

 Approved By

365

183

3 THK. 45°

246

124

996

07349
8

92
3

95
1

45°

0
21.53X

O 103X R 33X

FEATURES TYPICAL OPPOSITE

4.
5

49

B

B

VIEW B-B

10
0

CENTER ON SURFACE
MASK THREADS AND
O 13 ABOUT STUD 
PRIOR TO PAINT

COVER, PEDESTAL EV BUS CHARGER

1
1

COVER BOM

ITEM # Title Description QTY

1 COVER PEDESTAL EV BUS Galvanized steel CS SHEET G90 (Z275) minimized spangle, 11 GA. 1
2 WELD STUD M6 X 15 FULL THD. WELD STUD, STEEL, M6 X 15 FULL THD. 1

2
1

 


